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SSC CGL REASONING. MEGA QUIZ ADVANCE LEVEL QUESTIONS

Directions (1-5): Select the related word/letter / number / figure from the given alternatives.

R T et § & " aea/Av/AeaT/aTEa H

Q1. Saint : Meditation : : Scientist :
T : &1 ¢ : AT

(a) Research/ eTrer

(b) Knowledge/ ST

(c) Spiritual/ &TH®

(d) Rational/ i

Q2. AFKP : DINS : : WBGL: ?
(a) ZFJD
(b) ZEJN
(c) ZEJO
(d) ZEIN

Q3.18:5::12:?
(a) 4

(b) 10

(©)3

(d) 6

Q4.12:9::45: ?
(a) 15

(b) 56 & Online Reneaa

(c) 25

(d) 81 TEST SERIES
Q5. SINGER : QGLECP : : MONSTER : ? SSC CHSL
(a) KLNQSCP

(b) KLMQSCP TIER-I

E;)) ?&%ﬁ% 10 Full Length Mocks

Bilingual
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Q6. FAG, GAF, HAI, IAH,
(@) JAK

(b) HAK

(o) JAI

(d) HAL

Q7.3,6,9,15,24,39,63,?
(a) 100

(b) 87

(c) 102

(d) 99

Q8.-1,0,7,8,15, 24

(@) 4
(b) 3
(c)2
@1
Q0.
Question Figure :
AR R
3 I [ B |
Answer Figure :
% see /;/;” eee @ cee @ s
(A) (B) (€) (D)
(@)a
(b)b
(0)c
(d)d

Q10.If -’ stands for ‘+’, ‘+’ stands for ‘X’, ‘X’ stands for ‘-’ then which one of the following is not correct ?
MR mad e eIy Tt - R P F A AT D T

(a)22+7-3x9=148

(b) 33 x 5-10 + 20 = 228

()7 +28-3x52=127

(d)44-9+6x11=87

Q11. Conventional : Modern : : Rebellious : ?
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TR ; g A ?
(a) Aggressive/ THTHS

(b) Revolting/ amfY

(c) New/ saT

(d) Conforming/ T

Q12.BZDX: FIHG::JRLP:?
(a) NMKL
(b) NNLO
(c) NNPL
(d) NMLR

Q13.RADAR: RADAR:: WAR:?
(a) RWA
(b) WRA
(c) WRR
(d) RAW

Q14.12:245::13:?
(a) 265
(b) 270
(c) 275
(d) 280

Q15.81:8::7:?
(a) 128:13

(b) 136:9

(c) 124:5

(d) 144 : 11

Q16. A mother’s age is square of her daughter’s age. After 5 years, mother will be three times as old as her
daughter. What is the present age of the mother ?

T AT i S, ST SET FY A T A 8| 5 TUT o6 I, Al it Y ST T g H7 3 AT &7 ATCHT| A Hi qdA7=

T TR

(a) 29 years
(b) 25 years
(c) 36 years
(d) 20 years
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Q17. Bindu is elder than Nandu. Nandu is elder than Tarak. Tarak is younger than Oly. Prem is elder than
Bindu. Kitu is elder than Prem. Who is the eldest ?

fifg, g A T=T 3| 7, T A T=T §| TIGH, et F Fev 7] I, Mg T a1 Prg, I A TET ) AR AT AT 2
(a) Bindu/ &g

(b) Prem/ 99

(c) Kitu/ fz

(d) Can’t be determined

Q18. From the given alternatives select the word which can be formed using the letters given in the word.
Rafefea eeat § @ ST o 7t 9+ @ iR 1w ersg & a0t &7 72T s AT o ST asar g
ENCOURAGEMENT

(a) ENGAGEMENT

(b) ENCOUNTER

(c) GENERATION

(d) GENERAL

Q19. If NARGRUED is code for GRANDEUR which word is coded as SERPEVRE?

73 GRANDEUR #f NARGRUED #I< fa9T STTaT 8 df #1+ |7 :ie. SERPEVRE % forg g
(a) PERSEVER

(b) PRESERVE

(c) PRESERVER

(d) PREVERSE

Q20. Find the missing number from the given responses.

T T arsat F | €T q19 A
3
?
10
319 33 TEST SERIES

104 Bilingual N~
w666 SSC
(b) 872
(©) 1236 KA SOORMA
(D966 CHSL TIER-I

125+ TOTAL TESTS

Q21.
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If = stands for division, < stands for addition, + stands for equals to, - stands for greater
than, x stands for subtraction, = stands for multiplication and ‘*’ stands for less than,
then which one of the following equation is correct?

O =F HY AT &, <FT HT FASAT &+ AT AT GEL g, -FT AT T TS &, x FT
HY UEET g, = & HY IOT g AR MV H JAT & HA g o Hed A F dlA AT
THIHIOT TET 2

(a)?x5=:4:=3‘"*2

by 7=5<4-3=2

(C)?x5+4:3=:2

(d)?—5:=4:3""2

Q22.

8
3
5
29

(@) 35
(b) 26
(c) 32
(d) 45

G0 | o | o | =
o | |
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Q24. Three positions of a dice are given below. Identify the number TEST SERIES
on the opposite of side showing 4. Bilingual

T 99 FiT IR Rafaat < 7€ €] 91 99 F 70 AT AT 4 § A< ofid
U HEIT 1 g QT qTT A T&AT T T2 SSC

Question Figure:

D g [l N g [ KA SOORMA
!’ nﬂ nn CGL & CHSL TIER-I

(@6 185+ TOTAL TESTS
(b) 2

(©3
(d) Can’t be determined

Q25. Identify the diagram that best represents the relationship among classes given below :
e st ® & sard & Fitw ar w7 3w F 7w Gt Y gHATeT w3 @
Ladies, Gents, Teachers/ AT, T&W, farer®

(.C%@OO.

(@)a
(b) b
(©c
(d)d

6 | www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-testseries/3894/SSC-CGL-and-CHSL-Tier-I-SSC-Ka-Soorma-2020-Online-Test-Series

